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Q.30) Which of the following was the last
lecture?

a) English

b) Chemistry

c) Botany

d) Can‘t be determined

Q.31) Statement: Only good dancers are

invited to the conference. No one without

long legs is a good dancer

Conclusions:

I. All invited dancers in the conference
have long legs.

II. Those dancers who do not have long
legs are not invited to the conference.

a) Only conclusion I follows

b) Only conclusion II follows

c) Neither I nor II follows

d) Both I and II follow

Q.32) Statement: As stated in the recent
survey reports the people dying due to
dengue alarmingly high.

Courses of Action:

I. The government should conduct
another survey to verify the results.

II. The government should immediately
issue orders to all the departments to
educate people about dengue i.e., its
prevention, its causes etc.

a) If only course of action I follows

b) If only course of action II follows

c) If both I and II follows

d) If neither course of action neither I nor

II follows.

Q.33) Statement: "The road was built at
the cost of Rs. 12 crores and even civil
bus service is not utilizing it, what a pity

to see it grossly underutilized." - A

citizen's view on a new road linking east

and west sides of a town.

Assumptions:

I. The building of such bridges does not
serve any public objective.

II. There has to be some accountability
and utility of money spent on public
projects.

a) Only assumption I is implicit

b) Only assumption II is implicit

c) Neither I nor II is implicit

d) Both I and II are implicit

Directions ( Q.34 - Q.36 ): Read the
following information carefully and
answer the questions given below.

R is the mother of P, who is a son-in-law
of M and S is the mother of G. S is a sister
of K, who is a brother-in-law of P and H is
the daughter of T, who is a grandmother
of G.

Q.34) How is G related to P?
a) Daughter

b) Granddaughter

c) Grandson

d) Cannot be determined

Q.35) If M is a female, then how is H
related to S?

a) Sister

b) Sister-in-law

c) Niece

d) Cannot be determined

Q.36) If K married to N, then how is N
related to M?

a) Son-in-law

b) Daughter-in-law

c) Mother-in-law

d) Father-in-law
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